Measuring Perimeter

Lesson

4

o Find the perimeter.
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There are 5 squares.
So, perimeter =5 x 8 cm
=40 cm

— =
4x=2em *
=8cm =

5=x2ecm

L' =10 cm

l Perimeter
=2=10ecm
=20 cm

What (s wrong with their methods?
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Sam forgot that . I Is 2 cm.

Find the perimeter.

L

l Perimeter =12 =2 cm
=24 cm E

The dotted lines are not
part of the perimeter.

2cm 2cm  The perimeter Is

12 =2 em=24 cm.

2cm
Find the perimeter. 'fﬂ}n I need to add
4 cmto 20 cm to get
=——5x2cm=10cm the perimeter.

—5x2cm=10cm

2 %10 cm =20 cm A

This Is not yet the perimeter. m ,-

The perimeter Is 20 cm + 4 cm = 24 cm.
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Guided Practice

o Find the perimeter of each figure.

2cm

(a) The perimeter of figure A ls - cm.

(b) The perimeter of figure B is - cm.
(c) The perimeter of figure Cis - cm.

(d) The perimeter of figure D Is - cm.
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